Government of Chhattisgarh

State: Government of Chhattisgarh

Sanction Number: N/9/4403/2/7/92971

Sanction Date: 04/01/2020

Applications Type: Fresh

Academi	c Year:	2019-20

Category: ST

Scholarship Scheme: Post Matric ST Scholarship

Institute Name: Govt .Collage Bharatpur

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1490701 SAF	ROJ SINGH	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1592	1592	459
	YANKA SINGH	Female	B. A./Arts/I	Fresh	9	300	2700	0	1602	1602	430
1662693 NIR	MALA SINGH -	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1392	1392	439
1685243 MEI	ENA TEKAM 🗸	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1592	1592	459
	RUTI SINGH	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1592	1592	459
1695575 JIT	ENDRA SINGH V	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1622	1622	462
1697625 AR	TI SINGH	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1592	1592	459
1699738 CH/	AITU RAM	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1642	1642	464
1700057 DE	EPAK SINGH	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1642	1642	464
1704805 SAN	NJIV SINGH	Male	B. A./Arts/I	Fresh	10	300	3000	0	1637	1637	463
1705218 AKA	ANKSHA LAKRA	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1592	1592	459
1705462 VIR	ENDRA SINGH /	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1757	1757	475 [']
	ESHWAR SINGH	Male	B. Com./Commerce/I	Fresh	10	300	3000	0	1622	1622	462
	NITA GOND	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1592	1592	459 ²
1713266 VIM		Female	B. Sc./Science/I	Fresh	10	300	3000	0	1592	1592	459 ²
	MAHIR SINGH	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1642	1642	4642
	ELAM SINGH 🌙	Female	B. A./Arts/I	Fresh	10	300	3000	0	1572	1572	457 ²

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date:

(Signature & Search Head of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt .Collage Bharatpur

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: N/9/4403/2/7/92971

Sanction Date: 04/01/2020

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1716384 UN	MESH KUMAR	Male	B. A./Arts/I	Fresh	9	300	2700	0	1622	1622	4322
1718951 RA	AJPAAL SINGH	Male	B. A./Arts/I	Fresh	10	300	3000	0	1652	1652	4652
1720412 LO	DUKENDRA SINGH	Male	B. A./Arts/I	Fresh	10	300	3000	0	1652	1652	4652
1720745 RE	ETA DEVI	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1592	1592	4592
1728563 DH	HARMENDRA KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1652	1652	4652
						Total:	65400	0	35444	35444	100844

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

(Signature annual of the Institution) Namolarpun komali isi

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship



State: Government of Chhattisgarh

Sanction Number: R/9/4403/2/7/92979

Sanction Date: 04/01/2020

Applications Type: Renewal

Category: ST						Applic	cations Type			1 Amount
Institute Name: Govt .Collag	ge Bharatpur					Tuitio	n Fee Othe	er Fee To	tal Fee Total	l Amount
Academic Year: 2019-20			Туре	140.00	Rate Maint	tenence Tuition gwance		1802	1802	4802
	Gender	Course		Month 10	300	3000	0	1897	1897	4897
plication ID Student Name		B. Sc./Science/III	Renewal	10	300	3000	0	1442	1442	4442
1313747 VIRENDRA KUMAR	Flaire	B. A./Arts/III	Renewal	10	300	3000	0	1442	1442	4442
1460399 KAMLESH KUMAR AGARIYA	Male	B. Sc./Science/II	Renewal	10	300	3000	0	1392	1392	4392
1589598 RAM BAKASH SINGH	Male	B. Sc./Science/III	Renewal	10	300	3000	0	1422	1422	4422
1592531 SHIV CHANDRA	Male	B. Sc./Science/II	Renewal	10	300	3000	0	1392	1392	4397
1592672 ARCHANA SINGH	Female	B. Com./Commerce/II	Renewal	10	300	3000	0	1442	1442	444
1594386 HEERA SINGH	Male	- C- (Science/II	Renewal	10	300	3000	0	1372	1372	437
1595999 SARITA SINGH	Female	B. Sc./Science/II	Renewal	10	300	3000	0	1372	1372	43
1596878 LAL BAHADUR	Male	- 1 (Arte/II	Renewal	10	300	3000	0	1637	1637	46
1683255 RASHMI SINGH	Female Female	- A /Artc/II	Renewal	10	300	3000	0	1392	1392	43
100336 SAVITRI SINGH		B. A./Arts/II	Renewal	10	300	3000	0	18004	18004	54
1690243 CHANDRA PRATAP SINGH 1726201 JAGRITI BAIGA	Female	n G- (Science/II	Renewal		Total:	36000	U			

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend trom/the period it is detected.

Place:

Date:

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt .Collage Bharatpur

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: R/9/4403/2/7/93026

Sanction Date: 04/01/2020

Applications Type: Renewal

Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1713261 SEETA DEVI	Female	B. A./Arts/II	Renewal	10	300	3000	85	1392	1477	4477
1/13201 SELIA DEVI	Citialo	p. magneticus in			Total :	3000	85	1392	1477	4477

Declaration:

Place:

Date :

(Signatule & Seal of higger of the Institution)

Bovernment of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt .Collage Bharatpur

State: Government of Chhattisgarh

Sanction Number: N/9/4403/1/9/92981

Sanction Date: 04/01/2020

Applications Type: Fresh

	cademic Year: 2019-20					Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Allowance		1592	1592	4592
Application 10			B. Sc./Science/I	Fresh	10	300	3000	0	1592	1592	4592
1709743 P	REETI AHIRWAR	Female		Fresh	10	300	3000	Ü		1757	4757
1720428 S	AROJNI SONVANSHI	Female	B. Sc./Science/I		10	300	3000	0	1757		
		Male	B. Sc./Science/I	Fresh			3000	0	1757	1757	4757
	AID KUMAR	Male	B. Sc./Science/I	Fresh	10	300	10000	(-	6698	6698	18698
1731369 N	IUKESH KUMAR	Male	<i>D.</i> 33, 2 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3			Total:	12000	0	0055		

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Sign and Colleged of the Institution) MANAKEHIR Koreatskin

Place:

Date:

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt .Collage Bharatpur

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: R/9/4403/1/9/92983

Sanction Date: 04/01/2020

Ap

oplications	Туре	: Re	newal
oplications	Type	: Rei	lewai

11 . 2010 20			Tyma	No. of	Rate		Tuition Fee	Other Fee	Total Fee	Total Amount
nt Name	Gender	Course	1462	Month		Allowance		1007	1897	4897
			Ponewal	10	300	3000	0	1897		4447
AR	Male	B. A./Arts/III		10	300	3000	0	1442	1442	4442
	Male	B. Sc./Science/II	Renewal					1917	1917	4917
	Male	B. Sc./Science/III	Renewal	10				1397	1392	4392
MAK			Renewal	10	300	3000) 0			
IRWAR	Female		a.tesamona	10	300	3000) 0	1392	1392	**
1592687 JAGRITI ARHIRWAR 1730695 JYOTI AHIRWAR		B. Sc./Science/II	Kenewal	10			0 0	8040	8040	23040
	nt Name AR HIRWAR MAR IRWAR	AR Male HIRWAR Male MAR Male MAR Female	AR Male B. A./Arts/III HIRWAR Male B. Sc./Science/II MAR Male B. Sc./Science/III IRWAR Female B. Sc./Science/II	AR Male B. A./Arts/III Renewal HIRWAR Male B. Sc./Science/II Renewal MAR Male B. Sc./Science/III Renewal RENEWAR Male B. Sc./Science/III Renewal RENEWAR Female B. Sc./Science/II Renewal RENEWAR Renewal	AR Male B. A./Arts/III Renewal 10 HIRWAR Male B. Sc./Science/III Renewal 10 AR Male B. Sc./Science/III Renewal 10 IRWAR Female B. Sc./Science/III Renewal 10 IRWAR Female B. Sc./Science/III Renewal 10	Int Name Gender Course Type No. of Month Rate AR Male B. A./Arts/III Renewal 10 300 HIRWAR Male B. Sc./Science/II Renewal 10 300 MAR Male B. Sc./Science/III Renewal 10 300 IRWAR Female B. Sc./Science/II Renewal 10 300 Renewal 10 300 300 300 300 300	Int Name Gender Course Type No. of Month Rate Maintenence Allowance AR Male B. A./Arts/III Renewal 10 300 3000 HIRWAR Male B. Sc./Science/II Renewal 10 300 3000 MAR Male B. Sc./Science/III Renewal 10 300 3000 IRWAR Female B. Sc./Science/III Renewal 10 300 3000 IRWAR Renewal 10 300 3000	Int Name Gender Course Type No. of Month Rate Allowance Maintenence Allowance Tuition Fee Allowance AR Male B. A./Arts/III Renewal 10 300 3000 0 HIRWAR Male B. Sc./Science/II Renewal 10 300 3000 0 MAR Male B. Sc./Science/III Renewal 10 300 3000 0 IRWAR Female B. Sc./Science/III Renewal 10 300 3000 0	Int Name Gender Course Type No. of Month Rate Allowance Maintenence Allowance Tuition Fee Other Fee Allowance AR Male B. A./Arts/III Renewal 10 300 300 0 1442 HIRWAR Male B. Sc./Science/II Renewal 10 300 300 0 1917 MAR Male B. Sc./Science/III Renewal 10 300 3000 0 1392 IRWAR Female B. Sc./Science/III Renewal 10 300 3000 0 1392	Int Name Gender Course Type No. of Month Rate Allowance Maintenence Allowance Tuition Fee Other Fee Total Fee AR Male B. A./Arts/III Renewal 10 300 3000 0 1442 1442 HIRWAR Male B. Sc./Science/III Renewal 10 300 3000 0 1917 1917 MAR Male B. Sc./Science/III Renewal 10 300 3000 0 1392 1392 IRWAR Female B. Sc./Science/III Renewal 10 300 3000 0 1392 1392

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date:

(Signature mineral of the Institution)

Namukiaputa Korest G

Greenment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt .Collage Bharatpur

Academic Year: 2019-20



State: Government of Chhattisgarh

Sanction Number: N/9/4403/3/10/93022

Sanction Date: 04/01/2020

Applications Type: Fresh

oplication ID Student Name		AT THE PARTY OF TH	Туре	No. of Month	Rate	Maintenence Allowance	167	Other Fee		
		D. C. /C.:/T	Fresh	10	55	550	0	1737	1737	2287
1189834 SAGAR KUMAR ~	Male	B. Sc./Science/I		10	70	700	0	1552	1552	2252
1430494 DIVYANJALI KUMARI	Female	B. A./Arts/I	Fresh				0	1737	1737	2287
1658262 ANIL KUMAR YADAV	Male	B. A./Arts/I	Fresh	10	55			1697	1697	2247
	Male	B. Com./Commerce/I	Fresh	10	55				1592	229
	Female	B. Sc./Science/I	Fresh	10	70	700	0	1592		
1/14933 DEVINA MODICIN		B. Sc./Science/I	Fresh	10	70	700	0	1592	1592	
1/10142 FOONAM 3001	Female		Fresh	10	70	700	0	1592	1592	229
1716537 MANDAKINI YADAV	Female	B. Sc./Science/I		10	55	550	0	1737	1737	228
1718072 JITENDRA KUMAR	Male	B. A./Arts/I	Fresh					1592	1592	229
	Female	B. Sc./Science/I	Fresh	10	70			(01.000)	1592	229
	Female	B. Sc./Science/I	Fresh	10	70		4		1757	
1/2/663 SOLEKIA SABILE	Male	B. Sc./Science/I	Fresh	10	55	550) 0			
1730464 AAKASH KUMAR	Male	D. 3c./3cichec/1			Total	6950) 0	18177	18177	2512

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date:

(Signature CRINGIPAND of the Institution)

Happie of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt .Collage Bharatpur

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: R/9/4403/3/10/93023

Sanction Date: -

Applications Type: Renewal

Academic Year: 2019-20					Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
Student Name	Gender	Course	Туре	No. of Month	Note:	Allowance		4		225
		I III	Renewal	10	7	0 70	0			244
1064643 SHIVA VIKRANT	Male	B. Sc./Science/II		10	8	5 85	50	1592	1592	10000
1370626 DEEPA SEN	Female	B. Sc./Science/II	Renewal			5 85	50	1392	1392	224
	Female	B. Sc./Science/II	Renewal	10				0 1537	1537	7 223
1592024 PRIYA NAMDEV	Male	B. A./Arts/II	Renewal	10	7	U	70		alament are an entre	7 225
1 592643 KAMAL PRASAD			Renewal	10	7	70 70	00			
1596037 RAJENDRA PRASAD	Male	B. Sc./Science/II	Renewal	10	7	70 70	00	0 1537	TO COMP	
1689443 SURA LAL	Male	B. A./Arts/II		10		70 70	00	0 1557	7 155	•
1715389 OM DAS ~	Male	B. A./Arts/II	Renewal				50	0 1492	2 149	2 234
	Female	B. Sc./Science/II	Renewal	10				0 1392	2 139	2 224
1 720934 CHANDNI MOURYA		B. Sc./Science/II	Renewal	10		85 8	50	1001	1011	3 205
1733770 ANURADHA SEN	Female	D. 30./300100/11			Tota	d: 69	00	0 1361	5 1501	

Decla

schol 🖟 🗮 that studens studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any of rip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

ate have beenkept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accept

Their regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Signating Rusephof Head of the Institution) AFFECTOS PARTICIPATES ANAKPUR Korealt

Date